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o 72L = mL 8 m= cm "‘}ySm= cm
87 cm = mm 23 L= mL 79 L= mL
19 km = m 99 kg = g 51 kg = g
41 kg = g 52 cm = mm 22 cm = mm
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G\Agy 2L = mL 7m-= cm 1L = mL
45 cm = mm 59 L= mL 39cm = mm
38 km = m  47kg= g 44 km = m
82 kg = g /75¢cm= mm 11kg =
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Fractions and Decimals

Mystery Picture - Fractions
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the decimal you circled.

0.19 or 0.08

0.5 or 0.27
0.2 or 0.28

Compare the decimals and circle the greater decimal. Color the boxes with

0.37 or 04

0.78 or 0.87
0.7 or 035

Compare the decimals and circle the
greater decimal. Color the boxes with
the decimal you circled.

0.5 or 0.79
047 or 0.32
0.3 or 0.23

W Compare the dec ml and circle the gre

*&dclnéaICI ¢ the boxes with the des mly
0.09 or 0.1

[ oo,
0.55 or 0.49
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eci
circled

Compare the decimals and circle the greater

decimal. Color the boxes with the decimal you

0.18 or 0.81

& grd:lch|dh?| dhhldhgmly
0.32 or 0.18

Compare the decimals and circle the greater
decim with the decimal you
circled

Q\»gv all‘ Color the boxes
0.2 or 0.22

Compare the deci

decimal. Color the b
circled.

0.98 or 0.89

| and circle the gre
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ANnswer Key

Page 3: Double Digit Multiplication

Page 4: Division
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Page 5: Additive Angles Page 6: Converting Measurements
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&,& Find the total measure of the angles below. 9‘9} Find the total measure of the angles below. \;’& 7oL 72,000 mL 8m= 800 om vg’}&s m= 300 om
4 81° 58° 88° [ 4p° g7cm=_870 mm 23L=23,000mL | 79L=_79,000 mL
f5° o il v 19km= 19,000 m 99kg= 99.000g | 51kg=_51.000 g
3re 128° 107° 153° 41kg=_41,000 g 52 cm = 520 mm 22cm=_220 mm
Find the total measure of the angles below. \g& ol = 2,000 mL 7 m= 700 cm L= 1 ,OOO mL
y % 77° 45cm=_ 450 mm 591= 59,000 mL | sgem= 390 mm
18° 38km=_38,000m 47kg=_47.000g | s4km= 44,000 m
o
_% 82kg= 82,000 g 750m=_750 mm | 11kg= 11,000 g




Page 7: Mixed Numbers

ANnswer Key

Page 8: Fractions and Decimals
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;? Change the improper fractions to a mixed number. &y} '(;1:3"';:&\: 'm'"‘:;ﬂ:Lmber
3. 73 9._ 41 58_ 2123_ 135
5 - 75 2 = 42 7 = 87 6 36
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7 _ 11 39_ 4119 _ 4 117 _ 1
2732 |5 _Tol5=_ 35 |§" 2
13 _ 1 5 _ 1117 _ 2 1 11_ 3
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